Do not use a calculator.
Work out the change from a £5 note if you spend the following amounts:

1 
24p 





1 £ ...................
2 
72p 





2 £ ...................
3 
6p 





3 £ ...................
4 
£2.21 




4 £ ...................
5 
£3.20 




5 £ ...................
6 
£4 





6 £ ...................
7 
£1.27 




7 £ ...................
8 
£2.98 




8 £ ...................
9 
£4.29 




9 £ ...................
10 
£2.30 




10 £ .................
Work out the change from a £1 coin if you spend the following amounts:

11 
27p 





11 £ .................
12 
36p 





12 £ .................
13 
70p 





13 £ .................
14 
£0.38 




14 £ .................
15 
£0.74 




15 £ .................
16 
£0.60 




16 £ .................

Work out the change from a £10 note if you spend the following amounts:

17 
£8.81 




17 £ .................
18 
£6.37 




18 £ .................
19 
£3.43 




19 £ .................
20 
37p 





20 £ .................
